Division up to two digits - 6 - Quiz A

(EReseMaths = Correct Answer: ABCD
Explanation:
156+8< [ | [ ]
1’528_8 ' ‘ 1’281_7 llllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll
2232+ 12 meadc |
White FERIVED Correct Answer: ABCD
Explanation:
Sarah has some apples.
Shesharestheminto 4 equalgroupsandthereisone | e raas
left over.
How many apples could she have?
ol — o T 0
seven five
White [ERIVED B Correct Answer: ABCD
Explanation:

@@@@Om ..........................................................................
. 102100 = S K

36,603 73 1,743 83
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White FERIND B Correct Answer: ABCD

Explanation:
What could the answer be for 375 + 4?
9375 : : 938 --------------------------------------------------------------------------
o mpade |
White [N Correct Answer: ABCD
Which calculation matches the image? EXpIanation .
e Q e O 84084 | e
Q ° @ O ) 8,440+4
e e e O Lo 1
AandC | sssssssssusssssssssusessussssasssasssssssssEsassEsessRsEnnRnnRRRnERRREEES
White BRI = Correct Answer: ABCD
Explanation:
5,200 fans are travelling to a footballmatch. | sesessssssssassssasassssasassasasassasasansasasaasatansasasansanannnnannns
36 people fit on a bus.
Howmanybusesareneeded? | e ras
144 144.4 145 0
White [ERINED B Correct Answer: ABCD
Calculate the value of A EXpIanat|On.
4950 A
A A A |
14,850 1,650 1,515 4,950 | reemsesmsesaeanaase s a e a
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White FERIND B Correct Answer: ABCD
The answer is: EXplanation:

Q@QOOOO ..........................................................................

What could the calculation have been?

3,639+3 6,065 +5 1,213+ 1 ABandC | sy

White FERIVEED) Correct Answer: ABCD
Explanation:
Onafarm, the hens have laid 494 eggs. | sesvesssasussasassasasansnsasansnsassnsasansnsassnsnsansnsnsansnsnsnnnnnnns
They are put into boxes of 12.
Howmanyboxeswillbefilled? | i
41 41.16 42 412 | assssassssassssassssasassasassasaEEEaEsEEEEEEEEEEEEEEEEEEEEEEREEEEREREERS
(IIERoseMaths) = Correct Answer: ABCD
Explanation:

Complete: 3,976+ 4 = |:| |:|

994+1 e
7,952+8 198852 | e
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